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Run 5377 quartetwise, Asyms0 (Raw): All

quartetwize_asymi

— Entries 1837
[ Mean ~0.3598
- Std Dev ar.mM
B L
_I | | | | | | 1 1 | | | | | | 1 1 | |

-850 0 50 100

gHelNSamples0)/|PosHelAccl/PosHelNSamplesd + NegHelAccO/NegHelNSamples0 - 0.000000)

Run 5377 quartetwise, Asyms0 (Raw): Beam ON, Laser ON

guamstwisa baami las! asymi

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, Asyms0 (Raw): Beam OFF

quarebwise_bsamd asyrb

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF

auamstwiza baami la=® asymi

Entries 0
Mean 0
Std Dewv 0




Run 5377 quartetwise, Difts0: All

guartetwise diff0

Eﬂ_— _ Entries 1837
— Mean —0.000dERT
[ Sid Day 0.05661
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ﬂ].E -0.15 0.1 -0.05 0 0.05 0.1 015

PosHelAccO/PosHelNSamplesD - NegHelAccO/NegHelNSampleso

Run 5377 quartetwise, Diffs0: Beam ON, Laser ON

Run 5377 quartetwise, Diffs0: Beam OFF

quartetwiss_k=am0_difio

Entries 0
Mean 0
Std Dev 0

quanebwise_beaml_las? ot

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, Diffs0: Beam ON, Laser OFF

quanebwise_beami_last diif

Entries 0
Mean 0
Std Dewv 0
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Run 5377 quartetwise, NegHelAccO/NSamples0: All

quartetwize_negHQ

Entries 1837
Mean 0.75938

Std Dev 0.0713

| | | | | 1 | | | I | I

1 1
0.8 8 1
MNegHelAccD/NegHelNSampleso

Run 5377 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON

q.amalmsu baami last HIIHH[I
Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, NegHelAcc0/NSamples(: Beam OFF

guarebwise_bsamd negkll

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, NegHslAcclVNSamples: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

Entries 0
Mean 0
Std Dewv 0
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Run 5377 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
— Entries 1837
- Mean 0.7593
— Std Dev 007222
[ | 0 | Y N | l‘l | =1 | 11 1 1 | 11 1 1 | 11 1 1 | | 1113 I nMo 1 1
0.4 0.5 0.6 0.7 0.8 0.9 1

PosHelAccO/PosHelNSamplesD

Run 5377 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON

guamstwisa baami las! posHc

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, PosHelAccO/NSamples0: Beam OFF

guarelwise_bsarnl pashd

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

Entries 0
Mean 0
Std Dewv 0
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Run 5377 quartetwise, Sums0: All

quartetwize_summbD

— Entries 1837
— Mean 1.519
— Std Dev 01318
T 1o | o 1 |

1.2 1.4 1.6 1.8 2

PosHelAccO/PosHelNSamples? + NegHelAccl/NegHelNSampleso

Run 5377 quartetwise, Sums0: Beam ON, Laser ON

Run 5377 quartetwise, Sums0: Beam OFF

quartebwise beaml surmmd

Entries 0
Mean 0
Std Dev 0

guamshwiza baami las! summi

Entries 0
Mean 0
Std Dev 0

Run 5377 quartetwise, Sums(: Beam ON, Laser OFF

guamstwiza boami lasl summd

Entries 0
Mean 0
Std Dewv 0




